
2008 Iowa Farm Business Management Career Development Event 
 

INDIVIDUAL EXAM (150 pts.) 
 
Select the best answer to each of the 75 questions to follow (2 pts. ea.).  Code your answers on 
the answer sheet provided.  Be sure to erase completely any answers that you change.  You have 
120 minutes (maximum) to complete this exam. 
 
Section A. Economic Principles 
 
1. This curve shows the different combinations of a product quantity that will be sold in a 

market by sellers at different prices of that product: 
 a. demand curve 
 b. production possibilities curve 
 c. supply curve 
 d. total product curve 
 
2. If TC = total cost, Q = quantity of output, and TC = 80 + 2Q, what is the total cost of 

producing a quantity of 100? 
 a. 200 
 b. 280 
 c. 120 
 d. 2080 
 
3. The point of intersection of a market demand curve and a market supply curve is known 

as the point of: 
 a. equilibrium 
 b. diminishing returns 
 c. break even 
 d. profit maximization 
 
4. An increase in the willingness and ability to produce a product by producers in a market 

would be shown graphically as a shift: 
 a. right of a supply curve 
 b. right of a total revenue curve 
 c. up of a supply curve 
 d. right of a demand curve 
 
5. An opportunity cost is: 
 a. the cash cost of an opportunity pursued 
 b. the noncash cost of an opportunity foregone 
 c. the cash cost of an opportunity foregone 
 d. what one has to pay up front to pursue an opportunity 
 
 
 



6. Total cost divided by quantity of output is: 
 a. marginal cost 
 b. average variable cost 
 c. marginal cost 
 d. average total cost 
 
7. A variable cost is normally defined as one that varies with: 
 a. time 
 b. quantity of output 
 c. price of the output 
 d. uncertainty 
 
8. The point where marginal product starts to decline is the: 
 a. point of diminishing returns 
 b. breakeven point 
 c. point of profit maximization 
 d. equilibrium point 
 
9. Which of the following is true for a firm that is NOT minimizing its costs of producing a 

given level of output? 
 a. it is not producing the profit-maximizing output 
 b. costs can NOT be reduced 
 c. profit is not maximized 
 d. breakeven output has been surpassed 
 
10. What is the future value of $100, 5 years from today, if the interest rate is 8%? 
 a. 100 (1.05) 
 b. 100 (1.05 (1.08) 
 c. 100 (1.08)5 
 d. 100 (1.05)8 
 
11. Some change in a business would make economic sense if the change: 
 a. increases total income for the business 
 b. decreases total cost for the business 
 c. increases profit for the business 
 d. reduces total debt for the business 
 
12. Which of the following would NOT be included in a projected cash flow statement? 
 a. family living expenses 
 b. cash paid for machinery 
 c. current principal payments on long term debt 
 d. machinery depreciation expenses 
 
 
 
 



13. Projected cash flows for a grain farmer are (or can be) affected by: 
 a. weather conditions 
 b. grain prices 
 c. input prices 
 d. all of the above 
 
14. What is the economic term used to describe products sold to a foreign country? 
 a. imports 
 b. gross foreign product 
 c. exports 
 d. trade deficit 
 
15. If a firm can sell all of its output at the going market price of $4.00, what is the firm’s 

marginal revenue of selling its last unit of output if it produces 1,000 units? 
 a. $4,000 
 b. $250 
 c. $4.00 
 d. $(4.00/1000) 
 
16. If a farmer has a 30% marginal tax rate and an after-tax cost of $1.40, what is the 

farmer’s before tax cost? 
 a. $2.00 
 b. $2.30 
 c. $2.60 
 d. $1.40 
 
17. The federal tax form that reports wages earned and taxes withheld is which of the 

following forms? 
 a. W-2 
 b. 1040 
 c. 1099 
 d. SE 
 
18. What business type is organized and structured as a corporation but the earnings are 

taxable to the individual owners? 
 a. cooperative 
 b. Subchapter S corporation 
 c. partnership 
 d. sole proprietorship 
 
19. A government-set, maximum allowable price is known as: 
 a. price ceiling 
 b. price floor 
 c. price support 
 d. price subsidy 
 



20. If a firm is experiencing declining average total costs of production as it increases output 
quantity, this is evidence of: 

 a. diminishing marginal product 
 b. declining profits 
 c. increasing demand 
 d. economies of scale 
 
21. A feedlot operator purchased 100 feeder steers with an average weight of 600 pounds and 

sells them at an average weight of 1,050 pounds.  Feed cost per pound of gain is $0.50.  
What is total feed cost? 

 a. $225 
 b. $525 
 c. $300 
 d. $22,500 
 
22. Which financial ratio compares total dollars of debt to total dollars of assets? 
 a. current ratio 
 b. debt/equity ratio 
 c. debt/asset ratio 
 d. return on assets 
 
23. Net worth is a measure of: 
 a. solvency 
 b. profitability 
 c. liquidity 
 d. debt 
 
24. What kind of interest on a firm’s balance sheet is owed since the last loan payment? 
 a. current 
 b. prime 
 c. account receivable 
 d. accrued 
 
25. Short-run production costs include expenditures on: 
 a. fixed inputs only 
 b. fixed inputs and variable inputs 
 c. variable inputs only 
 d. purchased inputs only 
 



Section B. Records and Analysis 
 
Use the attached ending net worth statement (balance sheet) and net farm income 
statement to answer questions #26-35. 
 
26. What were this farm’s total liabilities on January 1, 2008? 
 a. $2,169, 441 
 b. $2,846,292 
 c. $1,073,129 
 d. $370,101 
 
27. The farm’s market value net worth increased by _______% from a year ago. 
 a. 17.0% 
 b. 7.7% 
 c. 7.1% 
 d. $126,358 
 
28. The cost value of the machinery is equal to: 
 a. what they could probably sell it for on the date of the statement 
 b. what they originally paid for it 
 c. what they originally paid for it minus the amount of depreciation expense taken 
 d. the value shown on their income tax depreciation schedule 
 
29. Using ‘market’ values, the farm’s total debt-to-equity ratio is: 
 a. 61% 
 b. 98% 
 c. 38% 
 d. 49% 
 
30. How much is this farm’s ‘working capital’? 
 a. $16,092 
 b. $542,132 
 c. $370,101 
 d. $172,031 
 
31. The FFA farm has agreed to pay its landlord $32,000 to cash rent 160 acres in 2008.  

Where would the $32,000 be entered on the Net Worth Statement? 
 a. current assets 
 b. current liabilities 
 c. fixed liabilities 
 d. it would not be entered 
 
 
 
 



32. If FFA farm borrowed $100,000 to buy feeder cattle on Nov. 1, 2007, at 6.5% annual 
interest, how much accrued interest would they owe on Jan. 1, 2008? 

 a. $6,500 
 b. $1,086 
 c. $542 
 d. $0 
 
33. From the Net Worth Statement and Net Farm Income Statement, what was this farm’s 

return on equity (ROE) for 2007 using market values?  All labor was paid a wage. 
 a. 2.3% 
 b. 3.8% 
 c. 4.0% 
 d. 3.7% 
 
34. From the Net Farm Income Statement, how much was this farm’s Gross Farm Revenue 

after adjusting for beginning and ending inventories? 
 a. $631,507 
 b. $623,732 
 c. $639,282 
 d. $517,084 
 
35. If FFA farm had sold some excess machinery in 2007, the revenue received would be 

entered as: 
 a. cash income 
 b. income adjustments 
 c. depreciation 
 d. sales of farm capital assets 
 
Use the attached cash flow budget projection to answer questions #36-44. 
 
36. How much cash does this farm expect to take in from crop sales during the coming year? 
 a. $469,260 
 b. $336,109 
 c. $78,210 
 d. $37,309 
 
37. Approximately, how many dollars of operating loans does this farm need to borrow in 

Jan.-Feb. to project positive cash balance of at least $2,000 at the end of February? 
 a. none 
 b. at least $26,356 
 c. at least $28,356 
 d. at least $42,448 
 
 
 
 



38. In what periods do they have to pay their cash rent in 2008? 
 a. Jan.-Feb. and Nov.-Dec. 
 b. Mar.-Apr. and Nov.-Dec. 
 c. July-Aug. and Nov.-Dec. 
 d. Nov.-Dec. and Jan.-Feb. 
 
39. In which period does this farm project its largest net cash flow surplus?   
 a. Jan.-Feb. 
 b. May-June 
 c. July-August 
 d. Nov.-Dec. 
 
40. How could FFA Farm achieve a positive cash flow in the January-February period 

without borrowing operating loan funds? 
 a. delay paying for seed and fertilizer 
 b. sell crops earlier 
 c. put off repayment of debt 
 d. any of these 
 
41. How much is this farm’s projected cash gross farm income for 2008? 

a. $469,260 
b. $861,769 
c. $874,010 
d. $829,639 

 
42. Which of the following expenditures is included in a cash flow budget but not in a net 

farm income statement? 
a. Wages paid to farm employees 
b. Purchases of fertilizer 
c. Principal payments on a loan 
d. Depreciation 

 
43. In how many of the six budgeting periods will FFA Farm need to borrow operating loan 

funds? 
a. 6 
b. 4 
c. 3 
d. 2 

 
44. FFA Farm is projecting that they will borrow _______ for the purchase of machinery in 

2008. 
a. $20,000 
b. $25,000 
c. $5,000 
d. Can’t tell from the budget. 

 



 
Refer to the attached “Grade A Dairy” budget to answer questions #45-54. 
 
45. How much profit per cow is projected? 
 a. $4,458.90 
 b. $1,017.59 
 c. $221.39 
 d. $4,237.51 
 
46. What price per cwt. is needed from milk sales to just pay for all costs, after receiving 

income for sales of cull cows, dairy calves, and replacement heifers? 
 a. $17.66 
 b. $15.08 
 c. $11.76 
 d. $.15 
 
47. What is the breakeven level of milk production per year needed to pay all costs, after 

receiving income for cull cows, dairy calves and replacement heifers? 
 a. $226 cwt. 
 b. $265 cwt. 
 c. $240 cwt. 
 d. $215 cwt. 
 
48. How much is the projected feed cost per cwt. of milk sold for this budget? 
 a. $4.00 
 b. $17.66  
 c. $14.34 
 d. $7.54 per cwt. 
 
49. If the price of corn increases to $5.00 per bushel, by how much will profit per cow 

change (all else equal)? 
 a. decrease $113 
 b. increase $113 
 c. decrease $565 
 d. decrease $452 
 
50. Judging from income section of the budget, the average number of years each cow is kept 

in production is: 
a. 2-3 years 
b. 4 years 
c. 5 years 
d. 7 years 

 
 
 
 



 
51. Based on the feed requirements shown in the budget, how many pounds of feed are 

required per pound of milk produced?  Do not convert pounds of feed to dry matter 
equivalent. 
a. 3.62 
b. 2.71 
c. 1.58 
d. .16 

 
52. If a dairy heifer is expected to produce revenue in excess of her variable costs of $500 per 

year for 3 years and can be sold for $500 at the end of the 3rd year, how much is her 
present value?  Use a discount rate of 10% annually, and assume net revenue is received 
at the beginning of each year. 

 a. $2,000 
b. $1,744 
c. $1,620 
d. $1,818 
 

53. If a new dairy barn can be constructed for $120,000, and its useful life is 30 years with a 
salvage value of $30,000, how much is its average annual depreciation expense? 
a. $5,000 
b. $4,000 
c. $3,000 
d. $2,000 
 

54. How much is the average annual interest cost on the same building over its lifetime if the 
farm’s cost of capital is 7%? 
a. $8,400 
b. $6,300 
c. $5,250 
d. $350 

 
 
Section C. Risk Management 
 
55. A wider basis means there is greater difference between: 
 a. the prices of two futures contracts 
 b. two cash market prices 
 c. a futures price and a cash market price 
 d. a borrowing interest rate and a savings interest rate 
 
56. Which of the following marketing alternatives is least likely to establish a price in 

advance of product delivery to the buyer?   
 a. cash sale 
 b. hedge with futures 
 c. cash forward contract 



 d. b and c 
 
57. A cattle feeder farmer who has hedged future corn purchases is attempting to protect 

against future: 
 a. corn price increases 
 b. corn price decreases 
 c. feeder cattle price increases 
 d. market cattle price decreases 
 
58. If you buy a put option you have the: 
 a. right to sell a futures contract 
 b. obligation to make delivery on a futures contract 
 c. right to buy a futures contract 
 d. obligation to take delivery on a futures contract 
 
59. Which of the following is a specific kind of rental agreement between a landlord and a 

tenant? 
 a. forward contract 
 b. cash 
 c. lease 
 d. charter 
 
60. In March a farmer sells December corn futures at $5.45 to hedge new crop corn.  At 

harvest, the farmer buys back the contract for $4.85 and sells corn in the cash market for 
$4.55.  What is the net price of corn received by the farmer (ignoring all commission 
fees)? 

 a. $5.45 
 b. $5.15 
 c. $4.55 
 d. $5.75 
 
61. The following corn producer who is most likely to benefit from rising corn prices is one 

who previously: 
 a. sold corn futures 
 b. sold corn with a cash forward contract 
 c. bought corn put options 
 d. took his/her chances in the cash market 
 
62. Money to be received at some time in the future is worth: 
 a. more the further into the future the money is to be received 
 b. less the further into the future the money is to be received 
 c. more the higher the interest rate is 
 d. both b and c are true 
 
 
 



 
 
63. Margins and commissions are typically paid by a hedger to: 
 a. a lawyer 
 b. another hedger 
 c. a speculator 
 d. a broker 
 
64. The price paid for an option is called: 
 a. the basis 
 b. the strike price 
 c. the premium 
 d. the commission fee 
 
65. A cooperative patronage refund paid to a producer member is typically based on that 

member’s: 
 a. dollar investment in the co-op 
 b. dollar business volume done with the co-op 
 c. taxable income 
 d. proximity to retirement age 
 
66. Assume currently in March the cash corn price is $5.00 and the December corn futures 

price is $5.45.  In December, the most likely observation would be: 
 a. cash corn price = $5.45 
 b. basis = $0.45 
 c. December corn futures price < $5.45 
 d. basis < $0.45 
 
67. A “limit” move in a futures market typically means there has been: 
 a. a maximum allowable price change 
 b. a limited number of trades 
 c. a restriction placed on how far a commodity can be shipped 
 d. an expiration of allowable trading time 
 
68. The amount of money initially paid by a producer to hedge future sales of a commodity 

with futures contracts is called? 
 a. margin money 
 b. the basis 
 c. present value 
 d. the spread 
 
69. Which of the following is most likely to lower the premium paid for a call option? 
 a. lower strike price 
 b. increasing futures prices 
 c. decreasing futures prices 
 d. all of the above 



 
 
70. Commodity futures contracts are bought and sold at: 
 a. Wal-Mart 
 b. exchanges 
 c. local market advisory businesses 
 d. governmental ag marketing agencies 
 
71. Which of the following marketing strategies is most like buying insurance to protect 

against falling prices with no obligation to use the insurance: 
 a. sell in the cash market 
 b. sell futures 
 c. buy put options 
 d. sell on a cash contract 
 
72. Marketing to a subset of market consumers who are somewhat narrowly defined and who 

are believed to have special or unique needs is called this type of marketing: 
 a. direct 
 b. focus group 
 c. niche 
 d. discrimination 
 
73. If a firm has quantity sales of its product increase 10% as a result of the firm lowering its 

product price by 20%, the firm’s: 
 a. total costs will decrease 
 b. total revenue will increase 
 c. total revenue will decrease 
 d. a and b are true 
 
74. An option’s strike price is: 

a. The same as the premium 
b. Known at the time the option is bought or sold 
c. Is determined at expiration time by the option’s buyers and sellers 
d. Is the same as the current underlying futures price 

 
75. A hog farmer who believes cash hog prices are going to increase is described as being: 

a. Hoggish 
b. Bearish 
c. Sheepish 
d. Bullish 

 
 
 



Team Participation Event – “Individual” Portion 
2008 Iowa Vo-Ag/FFA 

Farm Business Management Career Development Event 
(Maximum possible pts:  5 per individual and 15 per team) 

 
Instructions:  The questions below are related to the problems you just worked on as a team.  
Select the best answer (1 pt. each).  Code your answers on the answer sheet provided.  Be sure to 
erase completely any answers that you change. 
 
1. Assuming C = corn, S = soybeans, and A = alfalfa, the two budgets that were used to 

answer the “team” portion of this contest were for which of the following production 
alternatives: 

 a. CSC, CC  
 b. CS, CA  
 c. CC, SS  
 d. CS, CC  
 
2. How many corn acres can be planted per unit (bag) if there are 80,000 K. (kernels) per 

unit and 30,000 K. are planted per acre? 
 a. .375 
 b. 2.67 
 c. it depends on the crop rotation used 
 d. it depends on the cost per unit of seed 
 
3. Nitrogen expenses per acre of corn production:   
 a. depended on the crop rotation used  
 b. depended on the price per unit of nitrogen used 
 c. depended on the quantity of nitrogen per acre applied 
 d. all of the above are true 
 
4. Which of the following budgeted expenses had (or is most likely to have) both fixed and 

variable (per acre) components? 
 a. seed 
 b. land  
 c. combine  

d. crop insurance  
 
5. From a corn production budget, the breakeven price for corn can be calculated as follows:   
 a. (total revenue per acre – total cost per acre) ÷ yield per acre 
 b. total cost per acre ÷ yield per acre 
 c. total revenue per acre ÷ yield per acre 
 d. (total costs per acre – total fixed costs per acre) ÷ yield per acre 
 













Team Participation Event – “Team” Portion (35 pts.) 
 

2008 Iowa Vo-Ag/FFA 
Farm Business Management Career Development Event 

 
 

As a group (or team), you are to collectively select the best answer to each question below (7 pts. 
each).  Code your answers on the answer sheet provided (one answer sheet per team).  Be sure to 
erase completely any answers that your team changes. 
 
This activity is designed to test your ability as a group to 1) apply your knowledge of economic 
and business concepts to actual firm decisions, and 2) generalize and summarize the basic 
content and implications of economic articles and reports.  The applications will focus on 
information summarized in selected publications previously cited as reference materials for this 
event. 
 
In particular, this activity focuses on sub topics of farm management related to corn production 
and budgeting which is important to many Iowa farmers if they want to improve the returns to 
their agricultural operations. 
 
Attached you will find corn enterprise budgets that have been prepared by extension specialists 
at Iowa State University.  Production alternatives represented by these budgets are 1) corn 
following corn and 2) corn following soybeans.  Refer to these budgets, when appropriate, for 
the ‘team’ portion of this event. 
 
1. Based on the attached budgets, what is true about the breakeven price of corn?  
 a. not enough information given to calculate 

b. it is or should be the same for “corn following corn” as for “corn following 
soybeans” 

 c. it decreases with increases in yield 
 d. it increases with increases in seed units planted per acre 
 
2. Which of the following appears to be an advantage of producing “corn following 

soybeans” versus “corn following corn”? 
 a. higher yields 
 b. lower nitrogen expenses 
 c. lower harvest expenses 
 d. a and b 
 
3. In budgeting land expenses for corn production:    
 a. none would be included if the producer owns the land and has it paid for 
 b. one can use cash rent equivalents that vary with land productivity 

c. one common approach is to include the land price per acre divided by the yield 
per acre 

 d. all of the above are true 
 



4. Based on the attached budgets, assuming there are 80,000 K (kernels) per unit (or bag), 
what is the budgeted seed expense per unit?   

 a. $168.00 
 b. $2.10 
 c. $210.00 
 d. none of the above 
 
5. Your team has been asked to prepare a different “corn following corn” budget for a 

higher yielding, yet more expensive seed variety.  Assume also the only budget change 
would be for the seed expense which would be 20% greater for the new seed.  What is 
your budgeted new seed expense per acre for the original 145 bu. per acre land? 

 a. $75.60 
 b. $64.26 
 c. $63.00 
 d. $88.20 
 
6. Your team has been asked to prepare a new “corn following soybeans” budget for land 

with a cash rent equivalent expense of $245.00 expected to yield 200 bu. per acre.  If 
these are the only budgeted changes compared to the given budget for the 180 bu. per 
acre land, what is your team’s new estimate of total cost per bushel?   

 a. $3.43  
b. $3.18   

 c. $3.54   
 d. $3.08   
 
7. Assume a two-year production period for a producer with a corn selling price of $5.00 

per bu., and ignore time value of money considerations.  If this producer adopts a “corn 
following corn” production strategy, the budgeted expenses for the 165 bu. per acre land 
would result.  If this producer adopts a “corn following soybeans” production strategy, 
the budgeted expenses for the 180 bu. per acre land would be realized for the year corn is 
planted.  Which of the following is the highest profit per acre for the year soybeans are 
planted that would make the “corn following corn” rotation preferred?   

 a. < $163 
 b. < $82 
 c. < $141 
 d. < $44 
 
 









2008 Iowa Farm Business Management Career Development Event 
 

INDIVIDUAL EXAM KEY 
 
 

Section A. Economic Principles 
 
1. C 
2. B 
3. A 
4. A 
5. B 
6. D 
7. B 
8. A 
9. C 
10. C 
11. C 
12. D 
13. D 
14. C 
15. C 
16. A 
17. A 
18. B 
19. A 
20. D 
21. D 
22. C 
23. A 
24. D 
25. B 
 
Section B. Records and Analysis 
 
26. C Total farm liabilities = total current liabilities + total fixed liabilities 
  = $370,101 + $703,028 
  = $1,073,129 
 
27. B Percent increase in market value net worth = change in farm net worth (market)  

÷ farm net worth last year (market)  
  = ($1,773,163 - $1,646,805)/$1,646,805 x 100 
  = 7.7% 
 
28. C Original cost less depreciation. 



29. A Debt-to-equity ratio = total farm liabilities ÷ farm net worth  
  = $1,073,129 ÷ $1,773,163 

= 61% 
 
30. D Working capital = total current assets - total current liabilities  

= $542,132 - $370,101 
= $172,031 

 
31. D Only contractual obligations that are past due appear on the net worth statement  
  (according to the Farm Financial Standards Guidelines). 
 
32. B Accrued interest = principal borrowed x interest rate x time since the loan was  
  taken out 
  = $100,000 x 6.5% x (61 day/365 days) 
  = $1,086 
 
33. B Return on equity = net farm income ÷ average farm net worth (market) 
  = $65,259 ÷ ($1,773,163 + $1,646,805)/2 
  = $65,259 ÷ $1,709,984 
  = 3.8% 
 
34. B Gross farm revenue = total cash income + ending inventory value – beginning  
  inventory value 
  = $631,507 + $567,750 - $575,525 
  = $623,732 
 
35. D Machinery sales would be considered sales of farm capital assets 
 
36. B Sales of crops = $336,109 
 
37. C Operating loan needed = net cash flow (negative) – beginning cash balance +  
  desired ending cash balance 
  = $42,448 - $16,092 + $2,000 
  = $28,356 
 
38. B Cash rent payments are $50,000 in March –April and $50,000 in November- 
  December. 
 
39. B Net cash flow is projected to be $47,850 in May-June.   
 
40. D Any of these actions would improve net cash flow in January-February.   
 
41. D Cash gross farm income = livestock income + crop sales + USDA payments  

+ other 
= $469,260 + $336,109 + $18,000 + $6,000 
= $829,369 



 
42. C Principal payments on a loan are a cash outflow but not an expense.    
 
43. B An operating loan will be needed in Jan.-Feb., Mar.-Apr., Jul.-Aug. and Sept.- 
  Oct. to eliminate negative ending cash balance. 
 
44. A Projected new terms to receive are $20,000 in May-June.  
   
45. C Profit per cow = gross income – total of all costs 

= $4,458.90 - $4,237.51 
= $221.39 
 

46. B Breakeven milk price = (total of all costs – nonmilk revenue) ÷ cwt. Of milk sold 
  = ($4,237.51 - $315.90 - $156.00 - $147.00) ÷ 240 cwt. 
  = $3,618.61 ÷ 240 
  = $15.08 per cwt. 
 
47. A Breakeven level of milk production = (total of all costs – nonmilk revenue)  

÷ expected milk sale price 
  = ($4,237.51 - $315.90 - $156.00 - $147.00) ÷ $16.00 per cwt. 
  = $3,618.61 ÷ $16 
  = 226 cwt. 
 
48. D Feed cost per cwt. = total feed costs ÷ cwt. milk sold 
  = $1,809.55 ÷ 240 cwt. 
  = $7.54 per cwt. 
 
49. A Change in profit per cow = change in price of corn x corn equivalents fed 
  = ($5.00 - $4.00) x 113 bu. 
  = $113 decrease 
 
50. A Number of years in production = 1 ÷ cull cow rate  
  = 1 ÷ .39 
  = 2.56 years  
   
51. C Pounds of feed per pound of milk produced 
  = [(133 bu. x 56 lb.) + (8 tons x 2,000 lb.) + (6 tons x 2,000 lb.) 
  + 323 lb. + 1,855 lb. + 1,361 lb. + 111 lb.] ÷ 24,000 lb. milk 
  = 37,978 lb. feed ÷ 24,000 lb. milk 
  = 1.58 lb. feed per lb. milk 
 
52. B Present value = sum of annual net cash flows discounted. 
  = $500 + $500/1.10 + $500/1.102 + $500/1.103 
  = $500 + 455 + 413 + 376 
  = $1,744 
 



53. C Average depreciation expense = (initial cost – salvage value) ÷ useful life 
  = ($120,000 - $30,000) ÷ 30 years 
  = $90,000 ÷ 30 = $3,000 
 
54. C Average annual interest cost = average value x cost of capital  
  = [($120,000 + $30,000) ÷ 2] x 7% 
  = $75,000 x 7% 
  = $5,250 
 
 
Section C. Risk Management 
 
55. C 
56. A 
57. A 
58. A 
59. B 
60. B 
61. D 
62. B 
63. D 
64. C 
65. B 
66. D 
67. A 
68. A 
69. C 
70. B 
71. C 
72. C 
73. C 
74. B 
75. D 
 
 



Team Participation Event – “Individual” Portion KEY 
2008 Iowa Vo-Ag/FFA 

Farm Business Management Career Development Event 
(Maximum possible pts:  5 per individual and 15 per team) 

 
 

 
1. D 
 
2. B (80,000 K. per unit) ÷ (30,000 K. per acre) = 2.67 units per acre 
 
3. D 
 
4. C 
 
5. B 
 



Team Participation Event – “Team” Portion (35 pts.) - KEY 
 

2008 Iowa Vo-Ag/FFA 
Farm Business Management Career Development Event 

 
 
1. C The breakeven price of corn = the total production cost per bushel.  From the budgets given, the 

total cost per bu. decreases with increases in yield (see bottom line, each budget).   
 
2. D The corn following soybeans budget shows a 15 bu. per acre yield increase and a 55 pound per 

acre reduction in N use. 
 
3. B The budgets state a “land” expense = “cash rent equivalent” which increases for higher-yielding 

land.  Land owners should include this as an opportunity cost, so their costs would not be zero.   
 
4. A ($2.10 per 1000 K) x (80 1000 K per unit) = $168.00   
 
5. A = (original budgeted seed expense per acre) (1.2)  
 
  = ($63.00) (1.2) = $75.60 
  
6. B = (new total cost per acre) ÷ (new yield per acre) 
 
  = (previous total cost per acre + $20 rent increase) ÷ 200 bu. per acre 
 
  = ($616.90 + $20.00) ÷ 200 bu. per acre 
 
  = $636.90 ÷ 200 = $3.18 per bu.   
 
7. D Profit CS < Profit CC 
  ⇒ profit corn + profit soybeans < profit corn + profit corn 
 
  ⇒ ($5.00 - $3.43) (180 bu.) + profit soybeans 
   < ($5.00 – 4.01) (165 bu.) + ($5.00 – 4.01) (165 bu.) 
 

⇒ $282.60 + profit soybeans < $163.35 + $163.35 
 
  ⇒ profit soybeans < ($326.70 - $282.60) = $44.10 
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